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50cm | 0.16 | 0.11 | 0.13]0.10{0.17|0.150.13| 0.14 0.36
989 | XWET | REE |HSVRBEE 10878 @)
1m 0.13 0.13 0.31
50cm | 0.18 | 014 | 0.13|0.15(0.14|0.18[0.19| 0.16 0.35
990 | XWKET | REE |[BMRAFE 10878 o [EM I &KE-EES] BHNHHEECLA
1m 0.13 0.13 0.32
50cm | 0.19 | 014 | 013 |0.13[0.14|0.14[0.13| 0.13 0.28
991 | XWKET | REER [ONYREER 10A58 O
1m 0.12 0.12 0.28
- 50cm | 022 | 021 | 030 |0.32(0.30{0.30({0.31| 0.31 0.36
002 | swaEr | mamE ?Bm_‘r;aib_hﬁﬁn(m%ﬂkt 10858
UHE—EERA
1m 0.31 0.31 0.34
50cm | 0.19 | 016 | 0.17 |0.14[0.18/0.18[0.14| 0.16 0.44
993 | KWRET | %HE |KWETZEWRLHHE 10878 o
1m 0.16 0.16 0.39
50cm | 0.16 | 014 | 012 |0.12({0.14|0.13[0.14| 0.13 0.35
994 | RWRET | %HFE |KWETIHRLHFHE 10878 o
1m 0.11 0.11 0.32
50cm | 0.14 | 009 | 007 |0.07(0.08|0.08[0.07| 007 0.22
995 | KRBT | $HIE |KWETL=HLHHE 10878 o
1m 0.07 0.07 0.19
50cm | 023 | 013 | 0.14 |0.14[0.13|0.13[0.16] 0.14 0.36
996 | KWRET | HHHE |KWETZHMLHHE 10868 o
1m 0.14 0.14 0.34
50cm | 0.18 | 013 | 0.13|0.15(0.14|0.18[0.19| 0.16 0.35
997 | XWET | HHE |BHLHHEE 10878 o [EM I &KE-BEESE] BNRABECLA
1m 0.13 0.13 0.32
50cm | 0.19 | 014 | 012 |0.14[0.12|0.13[0.15] 0.13 0.40
998 | RMRET | /PR [RWRETILRBUNER 10A78 @)
1m 0.11 0.11 0.40
50cm | 0.15 | 012 | 008 |0.08[0.09|0.10{0.09| 0.09 0.21
999 | RMRET | /PR [RWRETII= M/ 10A78 e}
1m 0.08 0.08 0.21
50cm | 0.16 | 0.12 | 0.09 |0.09(0.09]|0.09(0.10{ 0.09 0.30
1000 SRERET | /NERR | RERETILAMA/NERL 10A6H (@)
1m 0.08 0.08 0.27
50cm | 023 | 015 | 014 |0.13[0.13|0.12[0.12| 0.13 0.39
1001 ZRERET | /PR | RIRETILER/NFER 10A7H (@)
1m 0.14 0.14 0.36
1002| KERET FREERR | R WRHT SRR AR 10A78| 1m 016 | 0.15 | 0.10 [0.11{0.14{0.11{0.12| 0.12 0.28 (@)
1003|  SRERET B |REER 10878 1m | 027 | 019 | 033 [0.35/0.37[0.32|0.30| 033 0.41
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